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ABSTRACT

Six~minute grid mean values of free air gravity
and magnetic anomalies 1n Marsden Square 150 were calculated
on data collected on nine cruises from 140,000 stations.
Although this 1s not the final data report, it is felt that
the basic data will be valuable to interested parties.






1. Introduction

A report on the storage and retrieval on GEODATABASE of geophysical
data in Marsden Square 151 has been put on GSC open file 337 (Shih, 1976).
The first part of that report is a brief description of the GEOFILE and
GEODATABASE systems and the second part gives six-minute grid mean values
of free air gravity and magnetic anomalies in Marsden Square (MSQ) 151.

This report gives similar data on the six-minute grid mean values

of free air gravity and magnetic anomalies in MSQ 150. It is not the final
report but it may be valuable to interested parties as basic data.

2. " Cruise Data in GEODATABASE

Digital values of Julian day, GMT, gravity, gravity cross coupling,
magnetics and other parameters were recorded automatically on paper tapes
or on magnetic tapes at one-minute intervals by using the Bedford Institute
of Oceanographlc Data Logging system (BIODAL) during geophysical cruises.
Shipboard off-line computers on various BIO ships were used to process the
data for quality control and analysis at sea.

Final processing of the geophysical cruise data was also berformed
on the Institute CDC-3150 computer. The observed gravity in milligals is
computed by referrlng to a known base gravity value and adding the Eotvos
correction. The free air gravity is obtained by subtracting the 1930 inter-
national theoretical gravity reference from the observed gravity. The
magnetic anomalies are obtained by removing the International Geomagnetic
Reference Field (IGRF 1965.0) from the total geomagnetic field.

All of the geophysical cruise data contain time sequence records
and are stored on magnetic tapes. In order to efficiently retrieve the
data by geographical location, the cruise data have to be sorted according
to geographic location by using GEODATABASE system. The data collected on
11 cruises (9 cruises in MSQ 150) have been entered into GEODATABASE and
are summarized on the next page.






Cruise No.

Baffin

Baffin

Baffin

Hudson

Baffin

Hudson

Hudson

Hudson

Dawsorn

Dawson

64-019

68-021

69-021
71-014

71-017
72~-021

72-025

/73-011

73-027

73-034

Minna 74-023

P

No. of Days Data Type. No. of Stations
MSQ Stations
20 (228-260) B.G.M. 157 12097
98 (164-305) B.G.HM. 150 27273
151 19071
186 29114
187 2503
67 (156-261) B.G.M. 150 12024
‘ 151 54400
36 (109-147) B.G.M. 115 540
151 37226
127 (123-308) B.G.M. 149 59193
150 33557
151 3089
31 (187-217) B.G.M. 114 481
150 24182
151 8283
31 (272-302) B.G.M. 150 6421
151 617
185 4284
186 29945
47 (115-166) B.G.M. 114 2497
115 682
149 7465
150 18501
151 17661
50 (227-277) B.G.M. 150 2075
157 3095
186 44751
187 1534
17 (317-334)  B.G.M. 149 5755
150 12838
152 1347
50 (171-229) B.G.H. 150 3840
151 50
185 8072
186 39078
187 1861
221 1274
222 6616
223 400

B = BATHYMETRY

G -= GRAVITY

M = MAGNETICS






3. Available Data in MSQ

Presently, data stations in MSQ 114, 115, 149, 150, 151, 185, 186
187, 221, 222 and 223 have been entered into GEODATABASE (see Figure 1).
Data in MSQ 151 have been give on open file 337. Data In MSQ 150 are given

in this report. The related Marsden Square numbers are shown in Figure 2.
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4 Data in MSQ 150

The number of stations, mean values, maximum values and minimum
values of free air and magnetic anomalies in each one degree square
(ODS) are given. It should be noted that the maximum values or the

minimum values may contain errors within the given ODS.
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5. Data Presentation

The six-minute grid mean values of free air and magnetic anomalies
in MSQ 150 are given in appendices 1 and 2. The results are based on 140,000

data stations in MSQ 150.
6. Reference

Shih, K.G. 1975
Data storage and retrieval using GEODATABASE with application
of geophysical data in MSQ 151,
O.F. 337, Geological Survey of Canada, April, 1976.












Appendix 1

Six-minute grid mean values of FA in HM359 150

15 March 1976
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Appendix 2

S8ix-minute grid mean values of MA in MSy 150

15 March 1976
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